Math 120 A ‘ Quiz 6 (20 minutes) August 9, 2018

\‘mswer-thcrqm\ﬁfﬁs in the spaccs provided. If you run out of room for an answer,
continue on the back of the page. Leave your answers in ezact form or round to 2 decimal
places.

1. Pictured below is a new prototype for a compound unicycle, built for speed. The gear attached to the
pedals is located at the top, and tirc is the large wheel at the very bottom. Each of the central gears
has a radius of 2 inches. The larger gears have radii of 4, 6, 8 inches as you go down, and the tire has a
radius of 10 inches.

(a) (10 points) If you pedal at 1 rotation per second, how fast does the unicycle travel? Please put
your answer in miles per hour.

(b) (10 points) A pebble is stuck against the bottom of the tire. Mark on the picture where on the tire
the pebble will be after 30 seconds. Explain your reasoning.

| ¢/

'y z/

h [ @ il
B 47 “ 27T
c | gm | Z %’

p | z¢7 ¢ 7

-~ tf T
[ iT Z /Z‘/l’

F | 9¢m ¢ \ (27

' ‘,, " ‘T

é’ 47( VB | & [ (7;7_//

H 9527 /C “ S IT-

/ , f 5

- — \ ’ P (GO

oo dn. fL 0|/ (nle )(gc © sec
see Veom T )0 o,

,? S‘,-G.S/v MPry

(«)
H

(k) Q> WTZ2= 2qzt

SC<
y 20 Ssocevrd ;/ ?/c,l Sl fs o S

So @ Aa‘? ﬁfh



